- Pythagoras Vierecke Uberblick

a) Quadrat: Diagonale: d =

b) Rechteck:

Hypotenuse: d = Kathete: a = Kathete:b =
c) Raute:
Hypotenuse: a = Kathete: e/2 = Kathete: f/2 =

d) Parallelogramm:
a < 90°: Hilfsgrofie m =

Hypotenuse: e = Kathete: ha = . Kathete: a+m =

Hypotenuse: f = Kathete:ha = Kathete: a-m =

a > 90°: HilfsgroRe m =

Hypotenuse: e = Kathete: ha = Kathete: a-m =
Hypotenuse: f = Kathete: ha = Kathete: a+m =
e) Deltoid:

Hypotenuse: a = Kathete: x = Kathete: f/2 =
Hypotenuse: b = Kathete: y = Kathete: f/2 =
f) Trapez:

Hypotenuse: d = Kathete: h = Kathete: x =
Hypotenuse: b = Kathete: h = Kathete: y =
Hypotenuse: e = Kathete: h = Kathete: a-y =
Hypotenuse: f = Kathete: h = Kathete: a-x =

g) gleichschenkliges Trapez:

Hypotenuse: x = Kathete: h = Kathete: b =
Hypotenuse: e = Kathete: h = Kathete: a-x =
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